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®|UE - X / SECTION - A

afTs U¥T / Objective Type Questions

Ay wEar I#sow#mmﬁwwﬁmﬁt’wﬁ o @ o
o 1 s g g Ty w frwew wt OMR vz v RIEAE FI dam
40 T¥T & & T F) 40x1=40

Question Nos. 1 to 80 have four options each, out of which only one is
correct. Mark your selected option on the OMR sheet. Answer any

40 questions. F0x1=40
1. ®H-@ T e e e A I T R 2
!9,/ it B) wm
© TR (D) TiEH
Which river is known as the 'Sorrow of Bengal' ?
(A)  Kosi (B) Ganga
(C) Damodar (D) Gandak
2. TEWIR 99 % FEF F gEey R
(A) R B)/ gwh 2
© =ma D) A wE
The tremor of the ocean bottom is related to
(A) Cyclone (B) Tsunami
(C) Tide (D) None of these
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- WUTR AR T W) w1z W e

(A) g ® fig

(C)  Iromae wiw (D) arEm
From which state was Mcghalaya carved out ?
(A)  Manipur (B) Tripura
(C)  Arunachal P‘radcsh (D) Assam

qaEdl g & Rt w FeE @ @ afer B3 am d o

A) T H _ B) wu®
€  (A) 3 (B) 2 D) A = A

Who has the right to make laws on the subjects of the concurrent
list ?

(A) State (B)  Union

(C) Both (A) and (B) (D) None of these

U Hagl *1 TUH B Qo R 2 P

(A) @ 19/ o

€ W (D) =t

Who is the head of village court ?

(A) Panch (B) Sarpanch

(C) Mayor (D) Nyaya Mitra
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= e
) T q;:“ﬂﬁ @ AT
() e p AT
The government based on public opinion is
(A) Monarchy (B) Dicmtoréhlp
(C) Democracy (D) Nomne of these
7. mrra =0 | ﬁq{aq =3 S @l -3 2
)/ o @) U AR
) T T D)

Who elects the Sarpanch ?

(A) Members of Gram Sabha
[B) State Government
(C) Mukhiya and Panch

(D) Panch

8. mf_-ﬂanair'mﬂfam?

‘l_ag/ Td B) uifew™
(©) T (D)
thre was the severj-part}f a-lliance formed ?
{A) India (B) Pakistan
(C) _M}'Enmar (D)  Nepal

H/S-24(M)/72043-(77;30 Page 6 o
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9. P dd e atfm ety
(A) WHFT (B] U
tt‘i/ TR D) U%
W};ich of the following is an abiotic resource ?
{A) Human (B) Bird
(€) River D} Tree
10. TR v ¥>
(A B Frch firdt
(€} <eig g D) A il
What is regur called ?
(A)  Red soil (B) Black soil
(C) Allluvia.l soil (D}  Laterite soil
11,  yEd! TAER qiEeT 8 FefRa g e
A) faEn By wAicH
(C) IWFH (D) g
Where is the Sharavati River Valley Project located ?
(A)  Bihar (B) Karnataka
(C) Uttar Pradesh . (D) Tamil Nadu
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zﬂ oy e i@ T admt?
N (B) 24-62%
A} 21'25%
(9/ 33% (o) 18%
-
What percenisage of India is covered by forest :
-62%
(A} 21-25% (B) 246
) 33% (D) 18%
13, TEesfea d &3 weifRag?
i:\;,./’é%vrﬁﬁ W | ¥
(C} TMATS, D) fgu

Where is Naharkatia oil ficld located ?

{A) Arunachal Pradesh (B) Assam

(€}  Nagaland (D) Tripura
14, Jum GPE I Y w8 I v oft »
YAL~"1975 B) 1982
{C) 1987 (D) 2002

When was the first National Water Policy adopted ?
{A) 1975 (B) 1982

1 1987 ) 2002

H!S-24(M)/72043-mm; Page 8 of 4
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15. fivgn ¥ few ad wmd wiww oy e -
(€ 1933 (D) 1934

In which year did the most severe earthquakc occur in Bihar ?

(A) 193] (B) 1932
(C} 1933 (D) 1934
16. = 3 & wgl aferge T 3 RE L >
a) =R (B) FEerTa
© o wamh
Where among the following is the thermal power gencration plant
located ?
(A) Barauni (B) Kehalgaon
(C)] Kanti (D) Al of these

- 17. aﬂq-mwﬁfmmmﬁiﬁﬁwg@%?

@)//smrhm B) ffas
€ s D) A HE

Which economic activity is predominant in rural areas ?

{A)  Primary (B) Secondary

(D) None of these

H/S-24(M)/ 72043-|17no)| Page 9 of 40
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mﬁmamﬂwﬁm“m@%?
m) EH

it & 7
by the policy of

A)  FN
c)/ fafmfu {D)

L
Which sector has benefitted the lcas

globalization ?

(A)  Agriculture (B) Service

(C) Manufacturing (D) None of thesc

19. RPmfradmfrgud?

(a) A (B) ¥

S w8 I (D) SRR

Dinar is the currency of which -country ?

(A) Iran (B) Iraqg

(C) Saudi Arabia (D) Afghanistan
20. RgET. TaadTa A Y iy w1 ?

(A) 1996 - 2002 (B) 2002 - 2007

(€} 2007 - 2012 (D) 2012 - 2017

What is the duration of eleventh five-year plan ?
(A} 1996 - 2002 {B) 2002 - 2007

(C} 2007 - 2012 (D} 2012 -2017

H/S-24(M)/ 7204377780y Page 10 of 40
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22.

(211}

e ot Reareh s A g S S & 2

#) sk ¥ @ Rl 2

IC) T a3 D) T

Gas and electricity productions are placed in which sector ?
(A)]  Primary sector (B} Sccondary se&or

(C)  Tertiary sector (0) Nonc of these

st frra 6 frs afen 2w & wh B T e S R 9w

weond 2
(A) waq e (B) N—— -

(C) s (D) i@ et
The process of €conomic development which raises the standard of

living of all the sections of the society is called
(A) Sustainable Development

(B) Inclusive Development
(C) Economic Growth

{D) All of these

]H/ S-24(M)/72043-(77/80) l Page 11 of 40
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qftez
(A) o smm @ N
Rre@ A
C fwmis (D) §I% W
| nt Report ?

Who preparcd India's first Human Developm¢
(A) Planning Commission
(B)  National Development Council

(C) World Bank

(D)  United Nations Development Programme (UNDF)

24 R das ... am & ot ST e R
(A)  FR & gy e &=
C) ®REr¥= (D) & wft

The secondary sector is also known as

{A)  Agriculture sector (B) Industrial sector
(C)  Service sector (D) All of these
25. 1 T TS W 47 7
ot yitqmt B) Rwm
© =i x D) A wE

H/S-24(M)/?2043~(T7nm Page 12 of 40
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27.

528,

Who was the king of Sardinia ?

(A)  Victor Emmanuel {(B)] Napoleon

(C} Charlcs X | (D)  None of them
1919 # 43 A & W B @

(A)  TH T X (B8] dfm=

(C) *af® Grew D) T 3

Who founded the Third International in 1919 ?.

(A)  Karl Marx (B) Lenin
(C) Friedrich E;lgels (D) Robert Owen
el & GHET $T T T BT 1P

(A) AR (B) W

(c) NiwEh (D) % A
Who was the chief hero of the' unification of Italy ?
(A) Mazzini (Bl Cavour

(C) Garibaldi (D)  All of them
1917 ¥ ygeht w4t wifa fFw I @ It it 3 2

(A) SR B W i

Wgﬂ%‘; (D) o Wifa

[211 ]
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|
ion of 1917 known 3 l

Tutl
apn ReVO
E namc i8 the first Ruse™ Revolution 3
By what arch
4 (B)
3
ber Revoll it Revolution
(A)  Octo November
[ (D)
rv Revolutiont
(C) Februar]
£?
20, fom ¥ @ @ S o
Aieh - By R
(A) T
- (o) dtgerd
¢ R sg o

‘ ader ?
Which of the following is not & liberal le

iroj h Mehta
{A) Dadabhai Naoroji (B) Firo) S‘ha

th Bannerjee
(C) Bipin Chandra Pal (D} Surendrana by

30. PAmfafeg 4 F frat wgeht e gEemAl & T arem Pt 1 wem

WT.?
W = (B) wiel-fidy gun

©) Rt wwgher (D)  TRm-Irrwrd Rt

Which of the following Proposed separate electorate for Muslims

for
the first time ?

(A}  Simon Commission (B) Morley-Minto Reforms

(€} Delhi Pact (D) Montaguc-Chclmsford Report

M@-24 M 72043-[??{3@] Page 14 of 40
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31. va & aweft g e w5 el o g 7

(A) TTE (B) Xy wgw-

(C),~ Tenay (D) FW W

Where was the first textile mill cstablished in India ?

(A)  Gujarat (B) Andhra Pradcsh

(C) Maharashtra (D) Uttar Pradesh
32. ‘Hid @ 5w 2w § af| fen mn o 2

A) fmd (B) ®g#

(C) wiftH D) Wiw A

In which country was the ‘corn law’ passed ?

(A) Britain (B) Russia

(C) Germany (D) France

33. W (COPRA) T2 ?
(A) E % AR FF B)~ Iudieer qiaw sftfam
(C) wHa R quses (D} e AR fema

What is COPRA ?

(A)  Right to information Act

(B) Consumer Protection Act
(C) Human Development Index

(D) Consumer Right Day

IH{S-24(M)/72043-{771301‘ Page 15 of 40
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< L)
B o e g e et 45
R gnfor & {B)
o T
© s EE a® i Bank earlicr known?

35.

36.

what name Was
: Regional Rural Bank (B Cooperative Bank
(C) Land Mortgagc Bank (D) NABARD
mﬁﬁﬁﬁgsmmmmmtmgé ?
““‘I’ witd St @) @ ferd
© Wt O T ﬁ-a

Rajlways were stdrted in India during whose rcign ?

(A) Lord Dathousic (B) Lord Lytton

(C) Lord Cornwallis (D) Lord Minto

8 wieed ® s w8 o 2
(A) 1748 fB} 1793
© 1798 (D) 1854

When was Louis Sixteen hanged ?
(A) 1748 (B} 1793

(C) 1798 D) 1854

l_4!-!,18-2“4(P«1]‘gf 72043*177:301
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37. 7% s A e oy -
@/ <ifFF B) Rzt
(€ Rers D) wRw
Who implemented the New Economic Policy {NEP) ?
(A} Lenin (B) Metternich
(C) Bismarck ‘ (D) Stalin
38. A =1 souftsrd S 7 2
(4) =ReR B wfw
C) glEh D Fewdh
Who succeeded Lenin ?
(A} Mazzini (B) Stalin
(C) Trotsky (D) Kerensky
9. dUIgEEH & umen % =g fee aneveTdn fer 2
(A) wE (B) wMUH
(c} Togaam (D) ¥W&
Who surrendered after the declaration of Potsdam ?

(A) France (B) Japan

(C) Vietnam | (D) India

]Hf S-24(M)/ ?2043—|mso|| Page 17 of 40
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42.

u—r L
- :;mm o R
" (D) qraa=S 4 AL
(C) e e qreedid
who was the first president of Swaraj pal ?
(A) Motilal Nehru (B) Chitta Ranjan Das
(C) Madan Mohan Malaviya (D) Manavendra Nath Roy
sfeq it T frq oo # R 27
(A) (B), TEE
(C) TIEH (D) frEr

In which state is the Indira Gandhi canal located ?
(B) Maharashtra

(A) Kerala
(C) Rajasthan (D) Bihar

dfeen Tfia 3 wEl R P

(A) S e B) fmae W

(C) Hﬁﬁ‘“} (D) 38

Where 1s Rohila National Park ?

(A) West Bengal
ga (B) Himachal Pradcsh

(C) Tamil Nadu
(Di Assam

H/ S-24(M]/72043-[77f&0|
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43. T 0 GRS % were # favw & aneht 2 2
() (B) afa
(C) WiFarge (D) W+
India is the leading producer of which mineral in the world ?
(A)  Manganese (B) Copper
(C) Bauxite (D) Mica
44.  CeREM TN & R fvw wfia € s B 2 2
(a) @/ W

© i D)

Which mineral is needed to make aluminium ?

(A)  Tin ~ (B) Bauxite
(C) Manganese (D) Iron

45.  qEQU e aRdem f T f for § 5
(A) ¥WGS @/ yfeem &
(c) faen D) 3nfEm
In which state is Damodar Valley Project located ?
(A) Jharkhand (B) West Bengal
(C) Bihar (D) Odisha

H/S-24(M)/72043-(77/80) Page 19 of 40
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,
qawt

E 3?‘17“;
Al
a6 it @ 3 watfe® ®) fsd
(a) E ST - _— h
AfE3 in South |
(C’ an: produclng smtc 1n ndla .
t sugarc
Which is the larges odisha
(B)
desh
Andhra Pra <htra
(A) o \jahara
i du
(C) Tamil Na .
a7 ﬁﬁmmmmﬁmﬂf@“
wa @
(A)
D) ?'iﬂi
() R (

i 1 Cated e
thr‘c 1 U Vv )

(A) Salem (B) Bhadravati

(C) Vijaynagar (D) Durgapur

48, wh-an fread v & frg Zada wwn & 2

(A) WSI’T“H (B) BRIl

© It (D) W & &g T
Which shipyard makes warships for India ?

(A) Mazagaon , (B) Kolkata

(C) Chennai (D)  None of these

H/S-24[M]f?2{}43_l?_”80l
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(A)  TRTETE B T
“ T (D)  Heg dge
Which of the following is the headquarters of North Central
Railways ?
(A) Allahabad (B) Hajipur
(€} Jabalpur (D)  Mumbai Central
50. 3« S&-Wm'ﬁg‘émaﬁg 2
(A) 1930 (B) 1936
(C) 1957 (D) 1965
When did All India Radio start ? https://www.bsebstudy.com
(A) 1930 (B) 1936
(C) 1957 (D) 1965
51. mﬁwﬁﬁmﬁq&&mmmmm%?
(&) T (B) FAIH
(\C/)/' Helg (D) T9&H
Which state has the first position in terms of length of roads in
India ?
(A) Gujarat (B) Karnataka
(C) Maharashtra (D) . Rajasthan
= [H/S-24(M)/72043-(77/s0 Page 21 of 40
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53.

54.

[211)

gﬂﬁmat'?
e & @ ¥ T3 A TFA 3 waifa®
(A)  shfem @ T
- IS
() &R (D) |
ted bY cyclonic storms ?

Which of the following

(A) Odisha

(C) Madhya Pradesh (D)

ﬁmaﬁi&amwnnﬁﬁmzyﬁntansuﬁmwi:?
(B) sftremae T3

(A) ATEE A
F3r AA W

(c) T

Which of the following is & fi

(D)
rst-aid equipment 7
(B) Fire extinguisher

(A) Life jacket
(D) Bandage and Tape

(C) Rope
s wlg fr T w2 2

&) He (B) 3

(C) Fom (D) el
Aswan Dam is built on which river ?

(A)  Nile (B} Amazon
(C) Krishna (D) Godavari

H/S-24(M)/72043-(77/80, Page 22 of 40
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B
" g ¢
: B
€ Yo B) e
. , (D) '
Richter scale is Used jn Which dis W
Isaster ?
(A) Flood
(B
(€ Earthquake | (Dl Cyclone
l Dl‘ought

6. t@‘fﬁmm;mmamm%g
(A) 9 an
- B

) @
D) = 3 ¥ 7

(€} Drought (D) None of these
| 57 mﬁ*ﬁﬁmw@mﬁqﬁﬂmﬁm?
(A)  FE9E T Agar whfy (B) ﬁgFﬁF( afirfy
(C) Tf&en afufy D) ¥ whify
Who among the following suggested democratic decentralization ?
(A) Balwant Rai Mehta Committec
(B) Tendulkar Committce

(C) Narsimham Committee

(D) Chelliah Committce

- ,H /S-24(M)/ 72043-{77130!' Page 23 of 40




58.

59

60.

(C)

Which constitution

-mahrﬁtm?mwﬂﬂm’h“
75 d \{%4‘1
73 o 72%
an

government ?

(A)

(Cl

F*ﬁﬁswﬁﬁﬁr$1uﬁuf%mtn?:ﬂ

(A)

(C)

75th

73rd

IATEE

oy w2

Chipko movement

(A)

(€)

Uttarakhand

Madhya Pradesh

; to urb
al amendment 13 related

(B) 74th

o) 72nd

ga:ﬂ ?

B T W
oy @

was started from which state ?

Himachal Pradesh

ST ) T @ @ R 2

(A), Tgafa

(C)

g8 ranfte

(B)

(D) Kerala

(B)  WUTARA!

D) ¥ & & T

(211)

local scif

H/S-24(M)/72043-(77/80)
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whﬂ declares {:m{:rg

(A Presideny

' (B

(©) Chlef‘ju“mc ) Prime Minister
(D

wﬂﬂwm , Noncofmcm

il

(A) Ha
B) w3

) e

Which is the oldest political party in India ?
(A) Janata Dal

(B) Bharatiya Janata Party

(C) Indian National Congress

(D)  Nationalist COngress Party
H/S-24(M}/?2043-muo;
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(211§

[A! / iééilﬁis
(D) afeaan

(C) amfEnt

is di cy found ?
of the following countries 18 direct democra y

In which
(A) Switzerland (8) India

(D) Belgium

(C) America
AFAR W/AT AT g?

ﬁ:agw#m?ﬂﬁiaam'mmﬁ!ﬁﬁ

qarEa 3 T@aAd # 9

(A)
(B) A

(€) e F wEHEE
(D) 4w

Due to which quality democracy is considered better than other
forms of government ?

(A) Nurturer of equality and liberty

(B) Public opinion

(C) Reconciliation of differcnces

(D) All of these

H/S-24(M)/72043-(77/80) Page 26 of 40
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N 1798 hal "

R
¢ 1808 ) 184y

(D) 191
when was the Nationg) Ine

Ome ¢
indin ? Mimateq for the firet time in
0
w8 B 184
WETR Wl §uy
X bt P & g fred d -
LEAALS (B) 3m
) =4 (D) WA |y
Circular flow is related to which of the following ?
(A) Production (B) Income
() Expenditure (D) Al of these
yra 3 I W1 IR R/ wrern Rk 2 P
A g (B W
c) Fafmm (D) forrce
alled ?

. tion ¢
What is the difference between income and consump

Saving
(A) Production (B)
(D) Distribution

(€) Exchangec Page 27 of 40
hn 775 2a(M)/ 720432 |
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?

68. qE Areha g 5t e o M A
@4” ®

(C) &Ry (D) .

L ountry ?
whlch C
Micro-financial institutions star‘tcd from

(A) India (B) China

nmar
(C) Bangladesh (D) Mya

69. muﬁmmnplﬁmmwmﬁmt?
&) e & @) frfes &
© v & o) Wi wE T

Which sector has thc least contribution to Gross Domestic
Product (GDP) ?
(A) Primary sector (B) Secondary sector

(C) Tertiary sector (D) None of these

70. P @ 7 anflw amump s W am R 2
) F (B) W@

(€) ik Fard (D) AR

H/S-24(M)/72043 (77780 Page 28 of 40
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(A)  Education A of ¢ flom; (211 ]
©Infrastructure 2
(C) Civil Services (B) Healg, re
frva AR Grgy (D
. <hT mm - ) Tranaport.aunn

A I R,
(C) &g (B) NNy

D) g

(C) Hanoi

(D
IT@"H N F 37 '% ) Paris
@) TRETE

Mmﬁm

D) Foreht vl 1 ol sfftm gl st ot s e
The meaning of National income is

(A) Family income

(B) Income of Public enterprises

(C) Government income
| final goods and services of an economy

(D) Monetary value of al

H{S-24[M)/72043-wwnm Page 29 of 40



73.

74.

75.

{21,

nftﬁﬁﬂtna—-ﬁﬁlﬂﬁgﬁmﬂ? .
/. AT

(A) /Wrﬁaﬁ (B) -

€ fafm ug o (D) TR

guru of Gandhiji ?

Who was the political
Rabindranath Tagore

Gopal Krishna Gokhale (B)

(A)

(C) Vipin Chandra Pal (D) Vyomkesh Banerjec
Pry 3 @ = B gt & e F wfve T

(a) fx& @)

(C) %™ D) ¥

Which of the following was not a part of allied powers ?

(A) Bntain (B) Germany

(C) France (D) Russia

‘qag WA & g few s 7 g3 ?

(A) T B) &=
) =R (D)  3sA

In which language was '‘Samvad Kaumudi' published ?

(A Bangla (B) Hindi

(C) Marathi (D) English

H/S-24(M)/72043-77/s0 Page 30 of
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D) Lo Ripon
¢ T AR 6 R F T g 5
@) e B s
) T (D} Mrared

(A) Lenin (B)  Stalin
(C) Bismarck (D) Garibaldi

V aRfa e F @ fem & s o
(A) aﬁm (B) IR

D e
€) gt )

1 of 40
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ies 7
] following countrie
ia was under which of the

Bohemia

Creece

! (B) ;
(A) Austria
d
Turkey (D) Polan

(C)

79 Se-fraes B AR A T E A gl ?
() ®u st B) ¥ M
© w8 ok v o) St

-Li k signed ?
Between which countries was the treaty of Brest Litovs gn
i France
(A) Russia and Italy (B] Russia and

(C) Russia and England (D) Russia and Germany

80. 1871 % faferw wuy =gl %1 gwwe =1 2

A)  xh - (B) ¥IUE
c) i D) Tl
Where did William I become the cmperor in 1871 ?

(A)  haly (B) England

(€} Germany (D)  Poland

H/S-24(M)/ 72043 177760
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BECT‘OH.B [211]
3 / Higy
o Au“?er-pne
ﬂﬂw X Gmﬁg%g‘ﬁm# Questions
K;ﬁﬁm’ ﬂ'r %ﬁa"ﬁ*mé;mmﬁ
Ix2=6

st Nos. 110 6 are Short Answe
I Wwer

ﬂﬁhquesn-on carries 2 m arks

I

Tope. Answer any 3 guestions.
Ix2=6

id 7€ & v & way 5 Rerfam,
Wwrite in brief aboyt Cold War, 2
1848ﬁm%iﬁr%WW€1? o 2
What were the causes of the French Revolution of 1848 ?

e %1 3T AP Fiw B wwn w4 g o 2
Why was the All India Trade Union Congress established ?

frefre 3 wergtl it arsfifae @ fvm y@r it o 2 5

How did industrialization affect the livelihood of the labourers ?

TTRIEE §T 8 ?

What is Communism ?

RaT—g13N Jcre F1 41 IR P

What was the purpose of the Hoa Hao movement ?

H/ S-Q4[Mj[72043-[7’7ma;
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r TypP® Questions
~ Answe
1 TAfT TR / Long An ng;mmarﬁq

Question Nos. 7 and 8 are Long Answer Type:

Each question carries 4 marks.

, ﬂ'g'mﬂ'lzﬁ?
7 wmﬂmﬁmﬁ%ﬁmﬁ&“m

ionalism in India ?
How did print revolution assist the growth of Nau

' T f&a THR Wiy
‘V'W%mﬁmﬁ#j@mimﬁwqﬁ
4
far
How the series of wmventions of machines paved the way for

industnal revolution ?
At / Political Science

#Y IWIG T / Short Answer Type Questions

BT wEr 9F 12 7% wy I K1 g @ fet 2w & 39 &1 aede v

& Iy 2 9% Fraffa #1 2x2=4

Question Nos. 9 to 12 are Short Answer Type. Answer any 2 questions
Each question carries 2 marks,

2x2=4

e S
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. ' iE”HQr
mention any four feay,, of Ing; 2
lan Pedt‘r
. al S}'St
/ o ¥ TEEA ey g, . m
. LR S
why has India adoptey MUltj-pg 2
- rl}' SVS'Ern
Jol ?
wreda f6em i .
a hk CL P
2

dach question carries 4 marks.

i I1x4=¢
i weflr s § ramiene # yfvwm §) e S )
: Qiscuss the role of judiciary in federal system.

'/Wﬂﬂm%mﬁﬁznmmﬁ? 4

What factors are responsible for the success of democracy ?
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snefywes / Economics

» Questions
A ST U3 f Short Answel Type Que

: ‘ : F1 o gy
WY WEAr 15 % xsmmaﬁwirﬁﬁﬁwzm*m

2}{2:4

& A 2 3w Faffia #

2 questio
Question Nos. 15 to 18 are Short Answer Type. Answer any 2 qu ns.

. 2x2=4
Each question carries 2 marks.
15/ fafta srefsgere 7 @ 2
What is mixed cconomy ?
16. avefteTn & W gHRTARH YN FATY) 2
Mcntion four positive effects of globalization.
17. Yo wewnadt = mr e 2 2 9
What is the function of linancial institutiong 2
/ . N
187 mmﬁmmwﬁw%%? )

What is the role of self-help Broup in women Cmpowerment ?

[H/82am) 72043 (77750 T




ﬂggf 19?’3 20 2y Z, 3?:8:“% Questiop, e
ﬂ‘ﬁﬁﬂﬁ?é’! &ﬁwmﬁre:mmi
pestion Nos. 19 ang 5, e Long Anse, Ix4=4
jach question carries 4 marks er Type Answer any one of them.
0 mmmmﬁhﬂq%mm~ frdee

| Sumers under the Consumer
Protection Act, .

0 T % e wEg e =%
Discuss the CCOnomic importance of money.
‘T’l:l?'l’ / Geography
g I Uy / Short Answer Type Questions
W77 AT 21 % 26 7% 7Y 307 &1 3F @ et 3w & 39w &1 /e wvA

¥ fre 2 s Fraffia &1 3x2=6
Question Nos. 21 to 26 are Short Answer Type. Answer any 3 questions.
EFach question carries 2 marks. 3x2=06
21. oo wifee fe @fel @ IR AR 2 2

. . 1 % ‘}
Nuclear power is obtained from which minerals *

22, Hrft ) T v @ ? :

o7
What is the utility of manganecsc :
[175-24(M)/72043-77/80)] Page 37 of 40
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23. ardia ygww i afonfa w1

Define thermal pollution.

va e d Tl 3 e @ wefu wwanst & P FA

evelopment of canals in

2

Mention the problems related to the d

Bihar.
25 fhita 7 %t firard frfe 2
Write the featurcs of mangrove forest.
2/ s 5 3 st 5 v ey 2

Name two coal fields of Jharkhand.
&id 39917 W¥T / Long Answer Type Questions

¥ wear 27 0d 28 3 Iadia &1 d @ et vE @ v &1 odE v ¥
fae 4 % Fraffia 1 I1x4=4

Question Nos. 27 and 28 are Long Answer Type. Answer any one of them.

Each question carries 4 marks. 1x4=4

27. aﬂmﬂm@?:wﬁﬁ&ﬁwmﬁml
Describe the methods of rainwater harvesting and recycling.

28, iy 721 9 Redwenat an v wifiem fyaon i

Give a brief account of the characteristics of alluvial soj]

H/S-24(M)/72043 (77780,
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on Nos. 29 to 32
st are
. . Short Answer Type. Answer any 2 questions
gach question carnes 2 marks .
2x2=4

X. m@mﬂmmta 2

What is the difference between dam and crnb-smkmcnl ?

Write two measures to reduce the effects of earthquake.
31, J9UR geEn Fi gfonfa ) 2
Define satellite communication.
2

32, oT9e yaud $ dEwsa & d 2

. Why is disaster management needed ?
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